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Answerthe all quesrion.

in each of the question | 1o 40, pick one of the alternatives (i), (ii), (fii), (v} which is correct of most
appropriate.

Putacross “X™ on the answer sheet provided, relevani to the answer you selected.

(1)

(2)

(3}

)

)

Which of the following can be considered as an information?

(i) Anunlabledgraph (i) A pupil'smarks for maihiematics

(i) Wealher forecast for tomorrow. (iv) Priceolapen

"Whendatais{A)............. via an information system, Iis{B)............utakes place and information is
givenas(C). .o.......... ]

Choose the most suilable angwers o fill A, B, and C blanks respectively?

(1) process, inpul, outpul (i} inputyprocess, output

{iti] owput, process, input {iv} imput, onfput, provess

Which of the following answers includes pantsof the eenifra! pracessing an it only ofa com puter?

(A) Arithmetic and Logic Unil
{B} Contol Uniy

(C) Hard Disk
(D) Memory Register
(i) AC,D (i) A,B,C {(iify B,C,D {iv) A,BD
Whal is the correcl row matchin g facts about bas code reader and di gital versatile disk (DVD)?
Row Der code Reader Digilel Yersalile Disc

A input Device Oulput Device

B Input Devige Storage Device

C Storage Device Output Device

D Cutput Device Input Device
(i} A (i) B {iif) C {ivi D

Which of the following Computer Generation is used V.S (Very-Large-Sca le Integrated Circuils)?
(i} For first generation computers
(i) For second generation computers
(iit} For third generation computers
(v} For founh generation computers
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(6) Which of [ollowing statement is incorrect regarding the Hub and the switch?
(i} dalatransmission speed of Switch is greater Lhan thel of Hub.
(i} Indalarransmission, Ihe switch sends data only to the terget computer.
(iii) [n date transmission, Lthe Hobuses half duplex mode while the Swilch uses full duplex mods:,
(iv) In data transmission, the Hub sends dala only to Lhe larget computer.

(7) In data Iransmission, (A) ... creeees..... fOrm is used to send data from sender to the receiver only.
(B, k. is used to send data in one direction at a time and (C)............. ... 18 Used to send dala in
both directions al once.

What is the answer given by (A), (B)and (C)?

(i} simplex, hall-duplex, full duplex (i) fullduplex,simplex, hall-deplex
{iii} hali-duplex, full duplex, simplex (iv) Jullduplex hall-duplex, simplex
(8} {A)........ . which is used as a security barrier between internet and computer network is availablz inboth
softwareand (B}........ forms. Choose the correct answer for Aand B blank respéctively.
{i) Hardware and Firewall {ii) Modem and Hardware
{1ii} Firewall and Hardware {i¥) Software andHardware

(%) Whichofihe following binary number is equivalent 1o 150 ,?
{iy 10000010, (iiy 1060010, (iii) 10000011, {iv) 10101109,

{10} Value of hexadecimal represent'D' is
(1100, (i) 1110, (i) 15, (v 15,

(11} Whern correct 1001010, into octal and hexadecimal he correctanswers respecily are?
(i) 322, and9A iy 312, andC2,, (1ii) 421,andC10,.. {iv] 521, and AC,,.

{12300 in ASCI 70 is the decimal values of F, what is the binary value of B?
(it 1000001 {ii) 1000031 {iniy 1000010 (iv) 1000110

{13 Which of the foliowing is an invalid code of the BCD coding system.
@ oIl Gy L1001 (i) 1011 (iv) 1000

{ 14) The correct answer [or the numberalbits equivalento dMB s,
(i) 1024'x8x4 (i) 1024°x8 {iif) 1024'x8x4 {iv) 1024'x8

{151 Which&f the lollowing@nswers correctly indicare the most significant digit (MSID) and least significant
dipit (LSD) respetively of 0.50157
(i), Dand?7 (i) 9and7 {1iiy Oand 0 {iv) 5and?

{16) A studenl can choose bread (A} or string hoppers (B) with potalo curry(C) or dhal (D} for bis break[as!.
What i5 lhe Boglean expression for the above scenario.

(i} (AANDB)AND (C OR D} (it (A ORB)AND(C ORD}
{iii) (A AND B) O2 (C OR D) {ivi AANDBORCORD
{17) What is the logic gale expressed by the given truth 1able,

A B EO: 4 =

0 0 1 "‘.‘. MD gate

0 i 1 {il} NOR gale

1 0 ] (iii) NAND gate

1 ] 0 {iv) OR gate
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(18) 1l the oulpur of the circuil F=0, which of the following answer give the correct values of ABandC

respectively. A

{i)A=0,B=1,C=] B

(ii)A=1,B=1,C=0 = |
{iii}A=1,B=0,C=1 F
(iv) A=1,B=!,C=] C=—

(19) Which of the following indicates exampies for utility software,
(i} disk formatting, Word processing software and compiler.
(1) disk lormatting, disk pariilioning and fragmenletion.
(i) screen server, anti virus software and spread shest sofrwere
(iv) presentation software, interpreier and disk formatting,

(20) Which of the following answers correctly indicate operating systems which allows multiple users foruse
the system simultaneously?

(i} Linuyx, Windows Server (i} Windows 7, Ubonitn
{iiiYM3 Dos, Windows Server {iv) Linux, Mag O3
(21} Providing a user interface is a function of (A) ........; (B)...... and {C).......are the two types of interfaces

provided. Which of the following indicates the A, B and C respectively.

(i) application software, graphical user interface. command line interface
(ir) application software. system software, command line interface

(iii) system software, graphical user interface. command line interface
(iv) operaling system, command ling interface, graphicel user interface

(22) Saving a large file, system splits it into several pieces, bul it ishol being saved eontinuously. This reduces
efficency of computer. Which of the utility soRware improveseificiencydlthis process?
(i} Data Compression software (ii) disKscanncr
{iii) defragmentation (iv) Anlivirussoftware

(23) The given diagrams indicates the two methods used for accessing the files in operaling system level, Pick
the correctanswer [or bwo diagrams of file ac gessing, respeclively.
(i) sequential access, random access
o T T (1) rendom access, sequential access
{1ii) sequential access, read only memory

é@: {iv) random access, Internet access

1 & ¢ B el N

24} Which of the following icon is not Quick Access Toolber.

(i) {ii) {iii} {iv)
= = ber e
i . o pB
25} Which of the following indicates the two orientation models of a word processing software?
(i) Landscape and Page Setup (i) Portrait and [ndentation
(111} Portrail and Landscape (iv) None of the above
26) Ctrl+H, shoreut key is used in ward processing for .............oooveeen.
Choose an appropriale sentence to fill the blank.
(i) replacing words (1) opening the document
(tit) finding the word {iv) saving the document
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{27) Which of the following tool can be used to insert a hiyperlink to a text document?
i 4 (iii) ‘ {iv) Eﬁ

(28) If the formula = 2°4+5%2 is entered fo a cell of spreadsheet, the call value will be
(iy 18 {iiy 22 (i) 24 (1) 26

I

(29) What is the function avaiteble in spreadsheet For calculating the average of a selected range?
() =Average() (i) =Mex{) (iii) =Sum(} {(iv) =counk)

Use the given spreadsheet to answer the questions 30 nnd 31.

{30) What is the formula that should be l:ntered incell B7 to f'l.nd r.ha I',-:-l:al number of cells containing numeric
values within B1: Cé cell ange, TR oo 0 -
(i} =Max(B1.C&)
(i) =Min(B1:C6)
(1it) = count(B1;C6)
{iv) =Sum{B|:Cé&)

{31) Which of the following will be shown in B7, if you entered the correct formula in cell B7 in the above

question, {

(© 10 (iiy 11 (i) 12¢ (iv) 9
(32)"H2" 15 {A) ............, while “SHS2" is....... (B). Choose thel¢orrect answer for {A) and (B),

rmpaclwely

(i) row absolule cell reference and column absolule cell reference

{ii) relative cell reference and column‘absolule cell réference

(iii) column absolule cel) relerenceand, relative cell reference

{iv) relarive cell reference and@olumn apd row absolute cell reference

{33) Which of the following abject can be used only in a presenialion software when comparing with word

processing software is;
() Pictures (i) Chart
{ili) Video Clip (iv) Hyperlink

(34) Which ofthe fe\lowing icon 1s used in presentation software w vigw the presentation in side shorler view,
to easily arrange the sides.

(1} E : (it} ﬁE {iii) {iv)

{35) The keyswhich are used to display the next slide and the previous side of a slide show respectively are
(i) NandB {ii) NandW
{ili} Nand P (iv) PandN

{16) A presenler uses a presenlalion software in slide show mode and during his presentation hie wents to draw
the attention of the audience towards him for few minutes by hiding the content of the current side. Which
key should he press? 5
(i) F5 @y P (i) Fl (ivi B

L o
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Use the glven database to answer the questions 37, 38, 39and 40.

Prduct Code | Prduct Name | Unit Price | Quantity | Suplier ID
B100 Milo Rs, 50 10 501
|y B loe Cream Rs.35 12 S02
B102 Choeolate Rs. 50 3 501
B103 Egg Bun Rs. 25 10 503
(37) Which of the following indicates the number of fields and records of Lhe given table.
() 5ands$ (ity Sendd (i) dand 5 (iv) 6and $
(38) Which is the most suitable freld for the primary key.
(1) Product Code {2) Unit_Price
" {3) Suplier ID (4} Product Name
(39) What is the most suilable dete type for the Unit_Price?
(i) OLE Objext (i) Text
(iii) Number {iv) Currency
(40} Which of the following only includes examples for database management software anly?
(i) MS Access, Base and Orecle (i} VisiCale, MS Access and MS Excel
(iif) Oracle, SQL and MS Excel (iv) Ms Access, Ms Excel and Oracle
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Anawer five (05) questions only, selecting the first question and four((M) others.
Firs| question carries 20 marks and each other question carries 1) marks.

{01} I.  Dihsansa, a student designs a simple electronic circuit by using a dry ccll, a bulb and (ew wires,

Wrile down the input and output ofihe process separately.
Il ldentify the following symbols precisely,

T 2 B B

(a) ®) (c) ()

{lI. TheRGH value of dark blue is 38, 25,209, State the binary codeof 209.

V. Kavindu says thal, in Bootean algebra x,1=x. Prove this uing a truth table)

V. State iwo differences between graphical user interface (GUI)dnd command line interface {CLI)

V1. Thesaurus is a facility in word processing softwarecindicate it's funCtion briefly,
VIL Simplify the given equation, =23/(5-2°2)+4
VIILIdentify the following icons available if presentation software.

© i) @ g

1X. What is meanr by data encryption?
X. What are the cyber crimes? !

i
[

(02) Givenbellow is a compuler nefwork connzcted with the Internat.

5 O

1= rregl A 0T,

.

ol s ;. b

\a é BT - o -
bt X FCd hitic -:':" F;:l.‘l

rari
L. AandB are diffsrent devices which performs the same function, Ideniify A and B separately.

Il Stale two main differences between A and B.
ITL. Stale the function of modem and router separately.

1V. Aand B arc geographically located in a wide erea. I[ndicale the miost snitable cable type thal can

be used 1o connecl A and B Lo the router, Give reasons for your answer.
V. Indicate the most snitable data rransmission medie type lor followlng.

a. Remote controlier of an eir condition machine.

b. To share a picture beiween near by two mobiles.

¢. for closed circuit television (CCTV) cables

d. communication over the Inlemet ).



(03) n) To starl a full eulomalic molor ehicle, following requirement should be met compulserily.
a. Driver seated on driver seal §)
b. pressing start bution (B) or drvr wearing seat bell {T).
For start a full automatic motor vaicle, Driver on driver seet (8) and pressing stant bunca (B) or
wearing scal bell (T should be complsority.
I. developesuitable Boolean exprssion for the above scenano.
1l. Draw a trulh table for the Boolea expression you developed.

b} . Copythe following table to younnswer sheet and fill it using a given software.
Software:- Linux, Task manage, Googlechrome, Windows?

Operakn Sysiem ﬁppli:arinnl Utility
Free and Open Source | proprietary softwars Softwere | Softwarel~
= D N

Il Inwindows operating system disk difragmentor can be approached followingthe given pathway.
. v - o

All Programs -----— Aceesstries --——-— System Tools ----—+ Disk Delragmenter,

What is the function performivd by Dlsk defrapmentation? .

{04} g) Given beliow is a document creakecusing a Word Processing software. Then itwas formatted using
some common tools aveilable in it ¥ritedown the formatting iools usedin A to Flabels separately.

b} i. Whatisthedifferenee berween “Save” and “Save As™,
1. oriefly desceibe vwo main lunction of operating sysiem.

(05) Following spreadshest indicates daily sales of ABC Food Shop including five branches. Using iL, answer

e st D25 it

the [cllowing question.

| N
Mo "S- g i iy 1 SR DAY S B
1.:Compleis this tebia tsing funciiane A _
ik i

AR T YRS
_ ABC Food Bhap Daily Seles
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[ Siate the formula thal you should write in cell H6 ta calculate the seles total on 15* Sunday. (without
using fonction}

II. State the function thet should be entered 1o cell C14 ta caleulale the weekly sales everage of the
Colombo outler.

IIL State the function that should be catered to cell 16 to find maximum value of daily sales of 15* Sunday,
(that function can be copied from [ 7101 12 to the calculate the maximum value of each days)

[V. [fyou are requested to indicate the daily sales in a chart, whal is the most suitable chart type 7

V. Some lime “H##HHAE" can be seen within the cells whick contains data in spreadsheet, What is the
reason for that?

[06) Sathyanjali is a self employed lady, who manufacturing sweels and distributes among rmobile iraders, Sho
hascreated dalabase including her business information.

Praducr Table Distribution Table

P ID  |Product Name|Manulacturing Dare B_[D [Distribution Daie| P_1D | Count
Pal Kokis 0721 BMOL 07/22 Pl 20
Bo2 Oil Cake 0721 BMO2 07722 P03 25
PO} Kiri tofiee 07/22 BM02 0725 BOa | 35
P4 Asmi 07/25 BMO3 07/10 pos | 45
P05 Mun guli 07/30 BMO] 08/0] P2 | 60

Business Table

B_ID | Businessman Name| Phone nu

BR0I Perera 071 HHAREEH

BK02 Mahinda QT THE A

BMQ] Kovil O73HXANHED

BhO4 Siva OF2HEHERAH

1. Write down two primary keys thatcan be used in this dalabase with their respective table,
11, [ndicaw the data type of the fields imDistribution_Table.

I Sathyanjali introduced a new sweet “Kaludodol” on 5™ Avgusl. She sent 15 to pieces o Percra on
6" August.

2) Wharis/are the lableflables should be updated.
by Write down onlydhignew rew/ rows of the updated table! (ables.
IV, Whel are the queries of database? Explain it using en example from above tables.

M. Nethmi says that it's not suitable lo engege in compuler games continzously. Explain this with two

reasons. ,

Il. Using of Facebook is gencralized Today. Wrile down thres resmiclions we should use in
social media.

111. There are two main ways to infect compurter viruses.
a. Connecling external devices
b, Nehwvorking of computers,
Wrile down two methods you can follow Lo prevent the computer virus.
1V. Describe two application of computer based tesching-leaming process them the traditional tesching-
leaning process.
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